PHYS 2211
Principles of Physics I
Quiz 1

Show all work in the spaces provided.

1) Given two vectors 4=-8i +2j and |B|=15,0 = 46°

“Ir 6 a) Using the coordinate system above draw the

vectors.(4 pts)

A

?’\ By~ |8 Coa Y6
a, =(15) Ce (469

- \ ( “*le.'p‘

~ B - mlsw (Ll(wj

‘f’a _U5) S (469

&6; 10.79

\

"f px="d
y = 2

b) What is the sum of the two vectors in terms of a magnitude and direction? (6 pts)
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PHYS 1111
Introductory Physics I

Quiz 1 \
Name C)Ka«.lu_\ }JJW\
Show all work in the spaces provided.
1) Given two vectors 4 =(5,-7) and ,E" =25,6=30°
i & a) Using the coordinate system above draw the
vectors.(4 pts)
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b) What is the sum of the two vectors in terms of a magnitude and direction? (6 pts)
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